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General Instructions
This paper contains three sections

Section A— Reading-5 marks
Section B—  Writing & Grammar- 10Marks

Section C- Literature-15Marks
All Sections are compulsory

Section A — Reading (5 Marks)

Read the passage given below and answer the questions that follow them:
1) There has been a lot of research which shows the importance of physical health In avolding

anxiety and depression. The mind and the body are highly interconnected. We can all make
fairly easy changes in our lifestyle to include more exercise, healthier eating, getting enough
sleep, being exposed to sunlight and so on. Research into exercise has found that It has a
positive impact on mood. Physical activity stimulates the release of endorphins In the braln to
produce the feel-good factor. Sleep is vitally Iimportant for children and adolescents to help
concentration levels. A good night’s sleep also stops people being bad-tempered and flying

off the handle.
1) Having good relationships is a big part of being happy. In one study, most happy people

were found to have strong ties to friends and family and they made sure they spent time with

them regularly. You also need at least one person who you discuss personal feelings with -

called ‘self-disclosure’. Just one person for a heart-to-heart is enough, together with a

network of other relationships. It’s not enough to have lots of friends Just to do things with or

chat to about music or football. That deeper connection is all-important.

1) I would recommend being completely immersed in a pleasurable activity, sometimes

called experiencing ‘flow’. The activity could be anything from doing judo to painting a

picture to playing chess. Typically, the activities require a certain amount of skill and are

challenging but not too challenging. If you are experiencing flow, you lose track of time and

are immersed in the present moment. You find the activity rewarding for its own sake.

People who spend time doing ‘high-flow’ activities feel more long-term happiness than those

doing things like just lounging around or chatting online.

IV) Be like Superman! Discover what your unique strengths and virtues are and then use them

fora purpose which benefits other people or your community. People who play to thelr
strengths (e.g. curiosity or persistence) or virtues (e.g. justice or humanity) and use them |

different ways and in different situations are happier than those who focus more on tﬁr;r i

weaknesses. In other words, focus on the positive, not the negative, and be true to yourself,



affect our lifestyle?
1

a) How do changes
ant and Why?

b) What kind of connection is import
¢) When we experience flow
d) Find the synonym of: keep

going no matter how tough our circumstances.(para-4) 1

WRITING AND G RAMMAR (5M)

Attempt ANY ONE of the given below:

Il A) The increasing amount of time spent playing indoor games has been a major cause of
decreasing the outdoor appearance of children. With this concern, write a speech with a
suitable title, to be delivered in the morning assembly in 150-200 words. You are

parag/Pragati.

OR

etter to the editor of a daily newspaper regarding the poor

11B) You are priya/Piyush. Write a |
condition of roads and streets in your locality.

Do as directed:

1))
Choose the correct passive voice for the following from the given options:

1) Who lost my bag?

a. Who had lost my bag?

b. By whom had my bag been lost?
¢. By whom was my bag lost?

d. Who has lost my bag?

(1x5=5M)

ii) Such methods (use) by the children to please their elders these days .

a. are being used
b. being used

c. use

d. used

iii) Anubhav said to me, “Please lend me your bike for a day.”(report what Anubhav said)

IV) We're used to have a lot of work to do, s0 meeting the deadline won’t be a problem.

(identify the error and write the correction)

r ERROR CORRECTIONA) .

story before. ( identify the adverb in the given sentence)

V) | have heard this

LITERATURE
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Yl) Read the following extract and answer the questions that follow: (1x4=4M)
- the fear was killing me.”

1. Identify the lesson?

(a) Princess September (b) Tiger in the House
2. Name the author of the lesson.

(a) William Blake (b) John Keats (c) P B Shelley (d) Ahmed Nadeem Qasmi
3. Who is the speaker of the above lines?

4. What fear was killing the speaker?

(c) Jalebi (d) A Visit to Cambridge

VIl) Answer the following in not more than 40-50 words: (2x3=6)
a) What does one learn from the story “A Visit To Cambridge”?
b) Compare and contrast the characters of “Jalebis” and “The Open Window”.

c) What is the speciality about earth? What are the common features between the
grasshopper and the cricket?

Vill) Answer the following in not more than 100 words: (5)

a) My head started to spin. | felt as if l was standing on my head and could not get on to my

feet again even if 1 tried. Master Ghulam Mohammed announced that the fees would be
taken during the recess.

With reference to the above dialogue, write an account of your feelings. Imaging yourself to
be the boy from the lesson “Jalebi”.
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Periodic Test-3 2023-2024
Subject: Mathematics
Max marks: 30
Reading time: 8 - 8:10am
Writing time: 8:10 - 9:10am

Class: VIII
Date: 8/02/2024

GENERAL INSTRUCTIONS

All questions are compulsory.
Part - A consists of 6 megs carrying 1 mark each.
Part - B consist of 3 short answer questions carrying 2 ma rks each

Part - C consist of 3 short answer questions carrying 3 marks each

Part - D consist of 1 questions carrying S marks
Part - E consists of one case study question carrying 1+2+1 =4 marks

'S no. Part A o 0T Ll
' The percentage of 1:4 is: 1
1.
A) 75% B) 50% C) 25% D) 100%

.l The ratio of 10m to 20 km is:
A) 1:20 B) 1:2000 C) 1:200 D) 10:20

Out of 40 students, 75% passéd in a class. How
3 many students did actually fail?

|
A)10 B) 20 C) 30 D) 40

4. | The shopkeeper purcliascd two ;'c:fi'igiét'zziti(;i';fbrz
139800 and X 8200 respectively. He sold them for
'%16920. Find the loss amount.

A)%1020 B)Z1080 C)%1000 D) Z1180

'5. | The area of a rhombus is 240 cm? and one of the

diagonals is 16 cm. Find the length of the other
' diagonal.

'A)l6cm  B)20cm C)30 cm D) 36 cm

Marks



Assertion (A): Saroj purchased a fan for <1000 and
sold it for ¥ 1200. Profit = T 400.

Reasons (R): Profit =S.P. - C.P.

a)Both A and R are true and R is the correct -
explanation of A

b)Both A and R are true but R is not the correct
explanation of A .

c) A is true but R is false
d) A is false but R is true

Part B

Find the area of the quadrilateral ABCD in which
AC=22 cm, BM =15 cm, DN =12 cm, and

BM L AC,DN L AC.

?

Find the discount per cent, if the marked price of an
article is 2,700 and its selling price is 32,160

Find the value of x if a) 23% of 550 =X
b) 42% of x =168

Part C

10.

A school garden has 500 plants. Out of these 10%
are roses, 5% are lilies, 2% are guava and 3% are
grape fruit. What per cent are the other plants in
the school? Find the exact number each type of the

plant.

11.

The population of a city was 20,00,000 in 2023. If
the population grows at the rate of 2%, what is the

expected population in 2025?




12. ’ Find the area of the given figure. \
12 cm T {‘.
demjg—8 em— 1\1
1 PR \ J
——16cm e
l Part D \ 1
13. | A customer made following purchases from a

departmental store. Fill in the blank and Calculate
his total bill.

T __

f(f Items ' Quantity | Rate Rate | Total LH
per item | of Rate
VAT |including
Tax J
j Pair of |2 800 (5% |? \
shoes 1;
Tea set 2600 4%  |T1872 | }
|| Water ? 4% 3312 \ \
| bottle J
Part E
Case study

Raman sold a watch for X990 after allowing the
discount of 10%. He sold a Radio at the same price
at 10% discount.

Based on the above information answer the
following Questions

a) Find the amount received by Raman by selling
both the items.

b) What is the marked Price of the Watch/Radio
and exact discount amount announced for
Watch/Radio?

the items.

¢) Find the total reduced amount allowed for both
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PERIODIC TEST-3: (2023-2024)
SUBJECT- SCIENCE
Class: VIII Max marks: 30
Date: 9.2.2024 Timings: 8:00 am to 9:10 am
No. of sides: 4 Reading Time: 8:00 am to 8:10 am
Writing Time: 8:10 am to 9:10 am

GENERAL INSTRUCTIONS:

(i) All questions are compulsory.

(i) Section A- All question numbers 1 to 6 carrying one-mark comprises of
MCQ and the Assertion ~ Reason type questions.

(i) }fection B- Question numbers 7 to 9 are short questions, carrying 3-marks
each.

(iv) Section C- Question numbers 10 to 12, long answer type questions
carrying 5 markseach.

S No Questions Marks

Section A

Choose the correct answer

1 Electric current is to be passed from one body to another. For this purpose, the two 1
bodies must be joined by

(a) cotton thread ~ (b) plastic string
(¢) copper wire . (d) rubber band

2 In the given figure, electrolyte, anode and cathode respectively are 1

a)A,Band C b)B,AandC
¢)B,Cand A d)A,CandB
3 In the list of animals given below, hen is the odd one out. 1

‘human being, cow, dog, hen’
The reason for this is
(a) it undergoes internal fertilisation

pg.- 1



_ | 9)_Assertion is wrong but reason is the correct statement.

(b) it is oviparous - _ -

(€) 1 is viviparous
(‘d_). it _l_lln_derg(_ucs external fertilisation

NOTE: In lheﬁ)ﬂlluw_iﬁg'ql;—é;ti(;ﬁg-ti-(i,;;latemenl of Assertion is
followed by a statement of Reasoning. Choose the correct answer from
the following options.

a) Both assertion and reason are correct statements, and reason is the
correct explanation for assertion.

b) Both assertion and reason are correct statements but reason is not
the correct explanation for assertion.

€) Assertion is correct but reason is the wrong statement.

4 Assertion- Blectrical charge . can be transferred from a charged object ]
! to another through a metal conductor
!i Reason- Metal is a bad conductor of electricity.
|
|
o :
g Assertion : The bubbles of a gas may be formed on the electrodes.
Reaspn: The passage of an electric current through a conducting
| solution causes chemical reaction.
1 6 Assertion: There are two types of reproduction- sexual and asexual
‘ reproduction.
Reason: in sexual reproduction two parents are involved.
- Section B
-

(a) If the metal clip used in the electroscope is replaced by an ebonite rod and a

charged body is brought in contact with it, will there be any effect on the
aluminium strips? Explain.

(b) Mention the reason of two different diagrams given below

pg. 2



______r_-—____________________.____._
| 8 " In the given diagram a circuit is used t

juice i r bad 1 3
o test whether lernon juice 15 good O

f conductor of electricity.

b s

| a. What will be your answer? Justify your answer

‘sice and honey?
b. What will happen if lemon juice is replaced by sugarcane juic

Justify ”_’_”__/_*,_,_,_4
b5 i
,r9 T Illustrate binary fission in amoeba. _} |
! : —-—‘-—"i
E Section C 2 |
10 |
|
1 ,
H i
|
| !
;
| (a) Identify the figure shown above. Explain its working principle and ‘1
write any two uses of it. . :
(b) Why do mountaineers suffer from nose bleeding at high altitudes?

11

(a) Describe the functioning of LED

(b) Is it safe for the electrician to do electrical repairs outdoors during 5
heavy downpours? Explain.

(c)Distilled water is a poor conductor of electricity. Justify

pg. 3
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Social Science
Class: 8 Max Marks: 30
Date: 6/1/24 Duration: 1 hours
No of sides: 02 Reading time: 8am- 8.10am

Writing time : 8.10am - 9.10am

Multiple choice questions (I1X6=6M)
1 William Adam toured the district of

a Bihar and Orissa

b. Bihar and Bengal

c. Bengal and Rajasthan

d. Orissa and Madhya Pradesh
2

. Sabeer Bhatia is an Indian-American businessman who co-founded the_

w

. webmail company gmail.com

o

. webmail company Hotmail.com

o

. webmail company yahoo.com

. webmail company Ask.com

W o

. Who cannot avail reservations?
. Brahmanas
. Dalits

o w

c. Adivasis

d. Backward and most backward castes

4. Who out of the following are facing inequality due to Marginalisation?
a. Dalits

b. Women

c. Adivasi's

d. All of the above




3. Manufacturingisa _ activity
a. Primary

b. Natural

¢. Agricultural

d. Secondary

6. The Industries which are owned and operated by individual or a group of
individuals is called.

a. Private sector

b. State owned

¢. Joint sector

d. Cooperative sector

7. Mahatma Gandhiji thought that English education has enslaved Indians.

Analyse. (3M)
8. Describe Article 17 of the Constitution. (3M)
9. a Mention any two facilities provided by the government which help industries
to be located in backward area? (IM)
b. Explain the working of an industrial system by giving an example. (2M)
10.a According to James Mill what should be the aim of education? (2M)

b. What was the condition of pathshalas where William Adam toured?  (3M)

11 a. List two fundamental rights in the Constitution that Dalits can draw upon to
insist that they should be treated with dignity and as equals. (2M)

b. How does the reservation policy work? (3M)

12. Define Industry and explain how industries may be depending on the type of |
raw materials they use. (IM+4M)




